HmmcnanmmH EHEHHH tarmmp CNOPTEIH FE306IH JaprsH
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Hufcnanwian nprafii cnopTeiH 1]
HaaaMelH CarcaH Dembervi

TGMLLGEHHH Tacae

JapanbkiH Hap HuiaT gyH
Tamup4biH WwarHan:
1-p Galp 12 xyH x 2 x 10.000 ¥ = 240,000
2-p Bavip 12 xyH x 2 x 8.000 F = 182.000 =7 G000 Ter
3-p bavp 12 xyH x 2 x 6.000 F = 144,000
LWyyr4guinH axknbelH xenc: - 400,000
/10 xyH x 2 egep x 20.000F/ RR e
3aan ranSaiH xenc ‘ 300.000 Ter
Hwnnom ‘ 100.000 Ter
MepanuiH yHs: 72w x 6,00C F = 432.000Ter 432.000 Ter
AroHc/uom  100.000F 100.000 Ter
AyH 1,908 000T1er |
BoNoBCRYYNCAH!
MaprasunTaH B.TyBlunHGasp
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Harrnad Sogory 0.3pa3aHauauar




